hARIND—-FrvD
Closed Centre Power Chuck

N series

RERDAYIT—=RFvvD
The standard Closed Centre chuck -~

*CEXIhG *CE correspondence

B <;%ZE Dimensional Drawings )
tL—YarEyF Q ,%}
3y Serration pitch R -
(X&) (Size x Depth) N-04,N-18:1.5 .
N-21,N-24:3 | I5e
i, R
[ ; & i¥2 Note 2
N 3
s N T— ="
® 0
N-04,N-05
( : = U 0|1 Note 1
_ el e =
- \ 8 1) N-21, 24085 1 0°
F e RO F2) N-21, 240354 : 60°
< Note 1) N-21,24:0°
e Note 2) N-21,24:60°
EIL
B

iDiEHIERERER Gripping Characteristic Graphs

MIRFIEEY T Y3 —ZRVCIBEDBHDTY, ¥With standard blank soft top jaw.

150 ,L:1L 300
2 7
@ Z
] N—10 = X
S - ] N
b L 2 N—15
2100 ,;20 200 -
g N--08] £ N=18
W v g N=p4 J
e —06 [ \
o \ T N=21
F s | £ 100
B L5 P
B 5

. 4]
N—=04
0 1000 2000 3000 4000 5000 6000 0 1000 2000 3000
[E$5®RE Speed : min' [E#5®RE Speed: min'

%N-04.0508ff 120,EvF—3F %N-21.2408ff 60.EvF— 6%

[ | T_ﬁﬁﬁ Dimensions xMounting bolt P. C. D. for N-04 & N-05 : 120° pitch : 3 pcs. #%Mounting bolt P. C. D. for N-21 & N-24 : 60° pitch : 6pcs.

&
mzt Dimensions A\

E N N O O PP g R

Model max. min. max. min. max. min.

N-O4 |110| 52| 60| 6 |80 | — | 3M8 | 12 | 14 | 233|201 |1125| 825/18 | 3 |23 |10 |25 | MIO | 8 |26 |27 | B5| - -

N-O5 |135| 65| 80| 7 |I00 | — | 3M8 | 14 |19 | 304|272 |1125| 675 9 |6 |23 |10 |35 | MI2 | 3 |28 |29 | 62| - -

N-O6 |165| 74 |140| 5 |1048] 21 | BMIO | 14 | 20 | 378|3355|1375| 7.75[1015] 815/ 31 |12 |36 | M6 | 4 | 34 |35 | 72 | MBX10| 116

N-08 |210| 85|170| 5 |1334| 25 | 6MI12 | 20 | 25 | 463|419 |2225|11.75(127 |106 | 35 |14 |36 | M20 | 5 | 38 | 42 | 95 | M6X12]| 150

N-10 |254| 89 |220| 5 |1714] 34 | 6M16 | 18 | 30 | 51.1/467 |3075/11.25/158 [133 | 40 |16 |36 | M20 | 5 | 45 |46 [110 | M8x15 190

N-12 304|106 |220| 6 [1714] 34 | &M16 | 18 | 30 | 61 |5575]4875|1275(163 |133 | 50 (18 |36 | M20 | 5 | 50 | 54 |129 | M8X15] 190

N-15 | 381|114 |300| 6 |236 | — | BM20 | 30 | 43 | 775|695 |4875]2325/104 | 69 | 50 [265| 565 | M30 | 2 | 60 | 61 |135 |M10X20| 260

N-18 450|114 |300| 6 |235 | — | 6M20 | 30 | 43 |108 [I00 |4875|2325| 92 | 57 | 50 |255| 55 | M30 | 2 | 60 | 61 |135 |M10X20| 260

N-21 530|125 |380| 6 (3302 — | 6M22 | 31 | 60 |86 |78 |935 |275 |97 |62 |65 |25 | B5 | M30 | 3 | 60 | 71 |180 |MI2x30] 3302
N-24 610125380 6 [3302] — | 6M22 | 31 | 60 125 [I17 [935 [276 | 97 |62 |65 |25 |55 | M30 | 3 | 60 | 71 |180 |MI2x30] 3302

KFBRRSOHREF . FABICKDFET %¥N-24LDKXB(CDVTIFEVEE TSI,
[ | ﬂ:ﬁﬁ Speclflcatlons ><Ma>< speed is shown using actual test data. #%For large type more than N-24, confer with KITAGAWA.

{145 R Gripping range 3-ANI-4 (BB) F5U9vANI-Y SFESRAAT BARMILEN FASE0GHEE B8 (B8/7N3-f) BEE—XY N B4YUY4 Matching Cyinder #asak,mEh BEI\-KY3— BEYTI3-

%%tdz:mms Max.mm " Jaw Str?ﬁerglameter) PIungreT{"S]troke Vex. Dr%w(BarPuH)Furce Max. Gruz?(mgg F)nrce Ma)f,%1 Snpeed Net Weight M ith Soft IanawsMumeknt of |nert|a HEpessure T air MPE(ng/SCI'SI'IE) atching erd op jaw Matching Sft top
N-04 |110 6 64 15 82 (836)| 228 (2325)] 6000 4,1 0008 |YO715R/RE|AY1315R| 24 (245) — SBO4B1
N-05 |135 16 64 15 82 (836) 262 (2670) 5500 6.2 0015 |YO0715R/RE|AY1315R| 24 (245) | HBOSCT | SBOSB1
N-O6 |165 15 85 20 18 (183b)| 525 (5383)] 5270 13 0045 |Y1020R/RE|AY1720R| 2.6 (265) | HBOBB1 | SBOBB1
N-08 |210 23 88 21 25 (2549) 75 (7648)| 4760 25 0.138 |Y1225R/RE|AY2225R |25 (265) | HBOSAT | SBOSB1
N-10 |264 24 88 25 29 (2957)[108 (11013)] 4010 37 0.300 |Y1225R/RE|AY2225R (2.8 (286) | HBT1OAT | SB10B1
N-12 |304 26| 105 30 41 (4181)[156 (15907) 3380 57.3 0725 |YI530RRE| - |27 (275)|HB12B1 |SB12A1
N-15 |381 72| 16 35 82 (8362)[249 (25391)] 3040 101 19 Y20%BRRE| - |32 (326) |HB15N1 [SB15N1
N-18 |450 133| 16 35 82 (8362)[249 (28391)] 2710 126 33 Y20BRAE| - |32 (326) |HB15N1 |[SB15N1
N-21 |530 69 16 35 82 (8362)273 (27838)] 1940 198 7.1 YOBRAE| - |32 (326) |HB18B2 |SB18A2
N-24 610 152 | 16 35 82 (8362)273 (27838)] 1760 252 120 Y20BRAE| - [32 (326) | HB18B2 | SB18A2






